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Dolores

Drum

Guitare

Guitare 2

Basse

Aahs

Piano

Dolores 2

Strings
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Guitare 2
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Guitare
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q = 140,000137q = 140,000137q = 140,000137q = 140,000137q = 140,000137q = 140,000137q = 140,000137q = 137,000061q = 134,000061q = 130,000137q = 126,999985q = 123,999992q = 120,000000q = 116,999886q = 113,999954q = 109,999908q = 106,999939q = 104,000015q = 100,000000q = 96,999954q = 93,999985q = 89,999954q = 87,000023q = 83,999969q = 80,000000q = 76,999977q = 73,999985q = 69,999985q = 67,000031q = 64,000000
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